Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15EC32
Time: 3 hrs lTax. Marks: 80
ach module.
' ’édule-l
1 Derive an expression for input 1mpe' wx;ce output 1mpedance V"’"‘tage gain of a fixed biased

common emitter amplifier usmg‘;ﬁ model (08 Marks)
For the emitter — follower netwo};k F1g Ql(b) shown below determme Te, Zi, Zo and Av.

(08 Marks)

e OR
Denve an expressmn for Z;, Zo, Av and A; for CE fix

bias configuration using hybrid

equlvalexit model. (08 Marks)
For the network of Fig. Q2(b) shown below, determmc Z,, Zo, A, and A
Lre 120
lﬂ;c = |- “1r,‘n—1
(08 Marks)

(08 Marks)
(08 Marks)

CC' e
For the circuit shown bol" ydetermine : 1) fy; and fyo  1i) fg and fr:
given that ry = c0Q), Cn(Cbe) 3PF, Cy(Cyc) = 4PF, C. = 1PF, Cy; = 6PF, Cy, = 8pF, A, =-90.

Nec =80y

(08 Marks)

Fig.Q5(b) =+ = L (08 Marks)
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OR
(08 Marks)

Determine fi g, fic and fis for the Fig.Q6(b) : sho
VGSQ =-2v and IDQ 2mA, IDSS = 8mA Vp -4V 4= OOQ

\/DD = 20v

Fig.Q6(b) . (08 Marks)
Module-4
What are the advantages of negative feedback.ii (04 Marks)

Derive the expre§swn for Z;r and Zs for v taégedsenes feedback connection type. (08 Marks)
De51gn the RGelements of a Wien bndge oscillator for operation at f = 10KHz. Choose the
0 2 (04 Marks)

OR
Explain the operation of coplitts, osc111ator using trar

moﬁwnh aneat dlaggam. (06 Marks)

Explain the construction and operation of UJIT. (06 Marks)
A crystal oscillator having L™= 0.4H, C = 0.05 PF ﬁnd Cn=1PF w1thmR = 5KQ find f; and
fp. (04 Marks)

Module—-S
Explain the oporahon of transformer éoupled class — A power amplifier with a neat circuit
diagram. Show that maximum efﬁmeney is 50%. ’ (08 Marks)

Explain the operation of class using complementary — symmetry
transisto palr » (06 Marks)
Calculate the effective resistance seen looklng mto the primary of a 15 : 1 transformer
connected to an 8-Q2 load (02 Marks)

B push pull amphﬁe

Al ¢

Deﬁne voltage regulato Explain series voltage regulator using transistor. (06 Marks)
“Calculate the han

rmonic distortion components for an output signal having fundamental
amplitude of 2.5¥, second harmonic’ amphtude of 0.25v, third harmonic amplitude of 0.1v
and fourth harmohlc amplitude ofO 05v. Also calculate the total harmonic distortion.

(04 Marks)
The followmg dlstortlon read(gngs are available for a power amplifier.
D, = 0.1, D; = 0.02 and Da='0.01, with I; = 4A and Rc = 8Q. Calculate the total harmonic
distortion, fundamental pewer component, and total power. (06 Marks)
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